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m=720,m FV0=0

Warning: col "MW ] missing
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P3-2

B8] | GEBRRTIC (7)) | El= (BH/EK) | XS TR

07:10 240 90.0 5| {Ri%e07:10 Fa) (KEAERESE)
08:05 240 90.0 5| 1Ri%e08:05 F& (RFERE)
08:55 240 90.0 5| 1Ri%e08:55 Fx (REERE)
09:45 240 90.0 | {Rik@09:45 Fx) (KREERE)
10:35 240 90.0 | 1Ri%e10:35 FH (REAEREE)
11:40 240 90.0 5| 1Ri%e11:40 F1 GREAERE)
12:45 240 90.0 5| (Ri%e12:45 F CGREAMEE)
13:45 240 90.0 5| {Ri%013:45 F3) (KREEREE)
14:50 240 90.0 5| 1Ri%e14:50 F51 (REAHERESE)
2it]2160.0 (9%) 810.0 #2i3#KEC: 2080.0, PH: 6.0

FEREHER 2 STEEARFT (155.0

BRIASERRERE125. 0 ml.

125.0), AIEERT—@E XAH5
EORGEBIRTC (240) 5748 (173. 0) A FF, AleEH T % @R #EiRS %2 XiER

BERSEBIEC (2590.0) HiZZEEC (2000.0) REIK K, BHHE

O] RECZE (2590. 0 vs 3955.0) fwE




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-2_0, Day=26 (2025-04-24)

1
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200 -
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[S3)
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V|,v93,1§Rv, ET = VI, VO, FVI, FVO, FRV, ad jFRV, ET 930 1000

650 620 - 750
- 500

- 250
50 Warning: lcol ['FVI', '"FVO'] missing 106

. v — M_E
FRV

maxM

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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m=510, FV0=0

60

58

56 -

54 -

52 -

50

—0— ME

5%5 5&0
m=780,n FV0=0

T
510

1 —om

M_E

7é5 7é0
m=600,n FV0=0

18 1

17 4

16

15 1

14

13 1

—o— MW

665 6%0
m=840,n FV0=0

600

28 A

26 -

24

22 A

20 A

- MW

840 845 850

16.

16.

16.

16.

16.

16.

21.

20.

20.

20.

20.

19.

m=600, FV0=0

50 A

48 -

46

44 -

42

40 ~

—e— ME

T
600

665 6%0
m=840,n FV0=0

00 ~

75 1

50 A

25 A

00 ~

75

——

M_E

840

8&5 8%0
m=660,n FV0=0

26 -

24

22 -

20 A

18

16

14

—o— MW

660

665 670

16.

16.

16.

16.

16.

m=660, FV0=0

30

25 ~

20 A

15 4

10

- ME

T T
660 665 670

25 A

20

15 4

10 -

—o— MW

T T T
600 700 800

m=720,m FV0=0

900

26

24 -

22 -

20 -

18

16

—0— MW

720 725 730



hour

100

10
55 80
:50
- 60
145
:35
- 40
:20
10 20
:00
I I I I I I I -0
IR R
é§¥ égr %ﬁ» & éﬁ“ 4? %;5 %gr



P3-2

BfiE) | BRI (D) | EE (EH/AR) | XK R

09:10 210 80.0 5| Ri&e09:10 Fzh (REAERS)
09:55 210 80.0 = {RRiB009:55 Fzh (RFAKEE)
10:50 210 80.0 5| {Ri%@10:50 F3h (FAERSE)
11:45 210 80.0 = Rige11:45 Fzh (RAEES)
12:35 210 80.0 E BRige12:35 Fz CGRAERESE)
13:20 210 80.0 =l {Ri%013:20 F31 (RAEDSE)
14:10 210 80.0 E BRige14:10 Fz1 CGRAERESE)
15:00 210 80.0 |Z=| {Ri%e15:00 Fz1 (KREEZFHE)
=2it]1680.0 (8%) 640. 0 3283 KEC: 1840.0, PH: 6.0

FEREHEBR 2 STEEARFT (135.0

BRIASERRERE107. 0 ml.

107.0), AIEEHT—@E XAHS
EORGEBIRTC (210) 5748 (157. 0) A FF, AleEH T 5% @R #EiRS %2 XiERT

BERSEBIEC (2535.0) H5iZZEEC (2000.0) {REIKK, BHHE

[0 &ECZE (2535. 0 vs 3950.0) R e




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-2_0, Day=25 (2025-04-23)

) e T e T T L LT e L LT TTryterary
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100 A
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o
1
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645
530 47

‘43 | Warning: lcol ["FVI',|"FVO'] missing
[ |

e v
FRV

- 800

2 30

- 25

M_E

- 20

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2300. 0,  TargetSetEC=1840.0

Warning: lcol ['ECB’,| 'ECC’'] missing

0.0

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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Bylnit @D29 02:38: ET=400 Fg=640.0 Ro=123.0
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ByEt @D25 18:39: ET=624 Fg=654.0 Ro=nan
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ByWoFv @D2P 02:38: ET=522 Fg=640.0 Ro=178.0
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cumET (ml/plant)

cumET (ml/plant)



m=510, FV0=0 m=600, FV0=0 m=660, FV0=0

8.2 o ¢ 18.30 g ¢ 18. 20 4 o It
18.4 1
18.1 4 18. 25 4 18. 15 4
18.2 4
18.0 1 18. 20 4 18.10 1
18.0 1 17.9 - 18.15 - 18. 05 -
17.8 - 17.8 - 18.10 4 18. 00 1
T T T T T T T T T T T T T T
500 600 700 800 900 510 515 520 600 605 610 660 665 670
m=720,m FV0=0 m=780,m FV0=0 m=840,m FV0=0 m
18. 20 4 o wE | 1820 18.30 4 o E 5 |
18.18 4 18.18 1 18. 28
18.16 4 18.16 18. 26 20 1
- ME
18.14 4 18.14 4 18. 24 1
15 4
18.12 4 18.12 4 18.22 4
18. 10 18. 10 18. 20 10 1 : M_W
T T T T T T T T T T T T T T T T T
724 726 728 730 732 734 780 785 790 840 845 850 500 600 700 800 900
m=510,m FV0=0 m=600,m FVO=0 m=660,m FV0=0 m=720,m FV0=0
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26 -
22.5 - & MW 24 —— MW —-— MW —— MW
24 1 25 4
20.0 - 22 1
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17.5 - 20 24 1
18 - 20 -
15.0 + 23 4
16 - 18 1
12.5 4
14 1 16 4 22 4
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m:780,m FVO0=0 m:840,m FV0=0 m m
26 -
—— MW —— MW
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